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1. A thin glass rod is bent into a one-quarter circle of radius r, as shown in the Figure

A charge +¢q is uniformly distributed along the rod.

(a) What is the charge density of the rod?
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(b) Evaluate the electric field component F, at the origin (center of the curvature)
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(c) Evaluate the electric field component E, at the origin. Compare with E, and

explain.
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No calculation necessary since, by symmetry, |E,| = |E,|

(d) Find the magnitude and the direction of the electric field E at the origin.
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